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covmatrix.b <- function(n, p, M=rep(c(0),p), S=diag(n)){
F <- matrix(rnorm(n*p),n,p)

A <- chol(S)

C <- matrix(c(1),n,1)

M <- matrix(M,1,p)

Z <-F %% A+ C %*% M

return(Z)

# 000000000
n <- 100
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gogn

# 00O0oooao

M <-c(1, 2, 3, 4, 5)

# 000000 boOon
s <- c(6, 7, 8, 9, 10)

# 0DO00oOooo

R <- matrix(c(1, 0, O, O, O,
0, 1, 0, 0, O,
0, 0, 1, 0, O,
0, 0, 0, 1, O,
0, 0, 0, 0, 1),
P,p)

# 000000000
D <- diag(s)
S <= D %k R %*% D

# 0000000000000 O000000000O000000000O0O00000000
Z <- covmatrix.b(n, p, M, S)

round (apply(Z,2,mean), 3)
round(sd(Z)*sqrt ((n-1)/n), 3)
round(cor(Z),3)

write.table(Z, "d:\\p_val_data_b.csv", row.names=FALSE, sep=",")
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# J0000OvMOOOOOOO0O0OO0 sgoOooooog

covmatrix.h <- function(n, p, M=rep(c(0),p), S=diag(n)){
F <- matrix(rnorm(n*p),n,p)
C <- matrix(c(1),n,1)
MF <- apply(F, 2, mean)
Y <- F - C ¥*% MF
V<= 1/n * t(Y) %% Y
<= chol(V)
<- chol(8)
matrix(c(1),n,1)
<- matrix(M,1,p)
<= Y %% solve(U) %*% A + C Ux% M

return(Z)

N =2 Q = c
N
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O00o0oO0oooano
n <- 50

E3

ooodn
p <-4

oo0ooooono
<- ¢c(0, 0, 0, 0)

= #®
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oooooooooon
<-c(1, 1, 1, 1

n

HH*

oooooooo

R <- matrix(c(1l, 0.8, 0, O,
0.8, 1 , 0, 0,

0, 0, 1, -0.1,

0, 0, -0.1, 1),

P.p)
# Jdoooooooao
D <- diag(s)
S <= D %% R %*% D
# J0000o0oooooobooooobb oo b oo uooooonoboo
Z <- covmatrix.h(n, p, M, S)
Z

round (apply(Z,2,mean), 3)
round (sd(Z)*sqrt ((n-1)/n), 3)
round(cor(Z),3)

write.table(Z, "d:\\p_val_data_h.csv", row.names=FALSE, sep=",")
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